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The figures in the right hand margin indicate marks.
Candidates are required to give their answers
in their own words as fur as practicable.

Hustrate the anstoers wherever necessary.

Answer all gquestions.
{ MICROPROCESSOR AND ITS APPLICATIONS }

1. Answer any four questions from the following :
2x4=8

fu) Explain the diflference between the machine
language and asscembly language of the

8085 microprocessor. 2

fb) Hew 1s the PUSH B instruction executed?
Find the status after the execution. 2
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{2]
i) What is PSW?

b

icd) 1 the 8085 adds ¥7 H and 79 H, specify the

contents of the accumulator and status of
S, Z and CY flags Laxd=2

i) What are the SPRs of 80517

I

i1 Explain the phvsical address formation in
BO86, 2

Arswer any four gquestions from the following

4xd=16

i) How does BOS5 microprocessor gencrate
appropriate canirol signals o interface
memory and 1707 4

ih) Drraaw the opeode feteh machine cycle of
8085 and discuss. 2¥d=g

fof Moention ditferent addressing modes of 8083
and give one cxample for cach. 2 ey

fd) Discuss abount ihe trigoering levels of RST

75, RST -5, RET 55 and TRAP. 4
fe] List the features of Intel 8051, 4

({1 Explain the pipelined architecture in 8086,
4
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3.

{3)
Answer any two ¢uesticns from the following
5x2=16

fre} Draw the architecture of 8085 and mention
various funciioinal bincks, 2+378

fb) (1) Show the control word format for 10
mode of PPl 82504

(i) Write dowin the mode O control words
for the foliowinge tao cases ;

(A) Port A - Inpuiport. Port B = Not uscd.

Port € =Input port and Port C.=
OutpuL port '

(8] Port A - Owiput port, Port B = Input
port. Port O = Qutput port
G+{2+2]=8

(¢} (11 Write the lungih and addressing modes
of the (oliowmye insiractions .
(A LXI H 2050 H
(Bl STA 3050 H
(C) MOV A M

fiji Explain the different modes of
operations of 82355 in detail. 3+5=8

fd) Draw and discuss the internal block
diagram of 8086, 4+3=8
[ Internal Assessment : 10 Marks ]
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